<9HOEEBRIR> HUNEOHTEEZLFS

BEFEDRERY
B|E| #x% OAMITEFE SC | 1= 2|35 |4z |55 |6x
1|8 0 0 0 0 0 1]
2 | B | £RE& |FaEgn #R98G) 4 4 4 4 4 4
3| K |[ED2—IL * 4 4 4 4 4 4
4 (K BEE FABER HRIEEE £T7LBY(6H) 4 4 4 4 4 4
5| K|[EYV2—IL 5 5 6 6 6 6
6| €| ED1—IL|E8LEHO 4 5 5 5 6 6
7| x 0 0 0 0 0 of
8| H 0 0 0 0 0 of
9| A ERRES MEREERED 5 5 5 6 6 6
10| K [ EBDa—)L |[=ts+—1 HiFsAI(65E) * 5 5 6 6 6 6
11| K [f=ThYsa L|aikatE (55 4 4 4 4 4 4
12| K [E®D2—IL [$1=8%5ks 5 5 5 5 5 5
13| & |MEMYRAL|ISTEHD S (4F) Z7ILRE(6F) 4 5 5 6 6 6
14| £ 0 0 0 0 0 of
15| H 0 0 0 0 0 oI
16| A L E0)=! 0 0 0 0 0 of
17| k| EUa—n [280FE REERGam s | 4 | 5 5| 5| o 6
18| K | RE&ES |Hrhata25) 2 Bk ol 4l 4| 4 4] 4
19| R [ED 21—l [#x0mEe REES(0-25) 5 5 6 6 6 6
20| £ | BV a—)L [#00me REEs(5-6%) SIS BWBHERE 4 5 5 6 5 5
21| 0 0 0 0 0 of
22| H MEOH 0 0 0 0 0 0|
23 A 2= 0 0 0 0 0 of
24| K| BDa—)L [B=tzr—n * 5 5 6 6 6 6
25| K | RE&ES |FEnkR6E) HRBEGH 4 4] 5 a4 4
26| K |[EY2—IL 5 5 6 6 6 6
27| & |MEmYECL 4 5 5 6 6 6
28| 0 0 0 0 0 of
29| B ol of o o o o
30| A | #KER |=7LE¥E(64) 5 5 5 6 6 6

* | IAT— VT T —DRKEH T,

[ ez ]
[ 7 oo T AEREL ]

4—13:1584

5—14:35tH  6—15:25tH

=PI F—LIc8md B, 24E41315: 108 TR, 3~64FE41%15:458 TR T,
B =PI —/LIZSMULERLN L, 24F41314:2088 TR, 3~64E41%15:058H TRT,
W1 AR RS ARETH/ N BT = O S A T AR D5 B O EA S BIShE T,

FD% EEER LD DOEELEWEITOET,

KT IRIR - A& PPN N TG R E LT, 1HFEDFE SR,

B DO FEFLRBRLET,



